1 21 12 9 2 21 12 10 3 21 12 21
2 1 25

12 9 1 0.001
g/m’y 12 10 2 0.001 001
(012 ) 12 21 3 0.001

12 9 1 1
ppm 12 10 2 2 20
(0=12 ) 12 21 3 1

12 9 1 40
ppm 12 10 2 34 50
(0=12 ) 12 21 3 33

12 9 1 2
ppm 12 10 2 3 30
(0=12 ) 12 21 3 2

12 9 1 0.00000048
ng-TEQ/m’y 12 10 2 0.00023 0.1
(012 ) 12 21 3 0.000083

opm 12 9 1 3

(0~12 ) 12 10 2 6 30

12 21 3 7

12 9 1 0.01
s 12 10 2 0.01

12 21 3 0.01

12 9 1 0.01
s 12 10 2 0.01

12 21 3 0.01

12 9 1 0.1
g/ 12 10 2 0.1

12 21 3 0.1

12 9 1 10.1

12 10 2 96

12 21 3 8.8




